F M (232) 3,412,200 H

B K i BRAM 4% (F23d) 3,015,431 H

T UELEHRY 1.00011

H i & R

B M
BB : SMO5FETH28 | BHABZFR : FEHEMN 3 B BHERR
T S & = £ BB-45 =7
T = % KA ERBNAHERRISE
W T & " F i mEEs M
A £ 8B (BB k)
No. A #L K
ol 2 s m % 2 f =
1 - 2 741822 AFLEEE 10%(CHHY T HEEEZME
L-2%ET%H LT, 3,016,004
2 WEEEs 2,741,972
3 WA 2,742,014
4 B 2,742, 288
5 HEREM 2,742, 452
6 (@hEtk 2,742, 630
7 ®WF—UR 2,742, 672
8 WEARD 2,742, 863
9 WEA 2,743,110
10 xBE® 2,743, 741
1 == 2,762, 546
12 WERESR 2,763, 360
13 FEER® 2,763, 733
14 @WKE 3,000, 000
15 MWhHOIBE 2,740, 712 i%%ﬂl‘ﬂﬁﬂ%’é?@ Stz
16 B7YETYY 2,741, 260 SERRIHETE 78




FRE M4 (F21d) 34,371,700 M

B (K I BRAf 4% (Fiid) 26,904,625 M

U8 LERY -

Hm L & R

ﬁ{;:ﬂ
BiLH. SfbE A8 E BB . AETET B RZnEnE
I = B = s k2l B
I ® % R 2 52 K AL B MG S AT (L T B
W T & * 18 HER My
e A K 2R g S MEHRIER) i =

£ 1@ % 2@

AHEEE 10%ICHET HEEEME
Lf=E8T%4A L1=, 30,470,000

1 BRI EE 21,700, 000

2 ENT® 29, 850, 000




F E (M (Fid) 3,417,700 H
A I PR AE (Fad) 3,042,898 M
S U LB 1.00046
£ L & R
B4 [
BiB : SM5FETA28 FRALGA : FEEMRAT I ERHEEIER
T k=3 & 5 £ 7K-31 2
T = £ MEERMRBEKEERKRIE
i T & i rE™ MmER h R
A # £ £ (#H ?7:‘4
No. A F K
% ’é’ﬁ’ @B % 2 @ " #
] ZHEY %
1 WS 0TS 2 766, 271 AFLEEE 10%ICHYT H%EEFNE
L=-£%8T%4L71-, 3,042,898
2 EENE 2,766, 437
3 @BhEL R 2,766, 824
4 MEAREER 2,766, 880
5 (R #A—2% 2,766, 880
6 M==x 2,766, 990
1 FEEEM 2,766, 990
8 MEREBS 2,767,101
9 (FRLE R 2,767, 654
10 WAREIHRE 2,781,334
11 B R ER 2,934, 455
12 BWKE 3, 000, 000
13 ﬁ%ﬁ%ﬁ 2’ 456, 153 H:i%%”"ﬂﬁﬁ*ﬁ%?@?f:f:m
14 (ﬁ)*ﬁ% 2 457 455 %ﬁﬁ%ﬂﬁﬂﬁﬁ*ﬁ’é?@?f:f:&b
P KH%
15 @FYETVS 2,765, 718 SHERIRImRE TR >7=ft)




¥ & fli+E (Fid) 6,229,300 M
= B HI PR AL (FA) 4,791,875 H
S U LB -
£ L i R
B4 [
BA B : S5 FET7H288 FBASEAT : RFET&AT 3R ENEHE
I -3 & = =% E=-10 =1
T = £ =it — K3y TEREBRERT
il I & At K EEM BERES A
AW £ ZE (R ?li
No.
o A B K £ % 1 @ ‘ B fi& =
AFLE%E 10%(CHYET HEEFNE
1 I3 A EREHH 5,422,000
L-£%ET%&+ L1, 5 964,200
2 EHaAHYILE UM 5,427,000
3 HI—X 5, 444, 000
4 NTCa>HILE Y 5,473, 000
vk
IR a0FIL2 Y
6 ) 5, 500, 000
7 Hh o B S 5,501, 000
(v
wIEHIREMEE TR > f==8
9 MoTXO 3, 500, 000 P




T Efl4& (Fad) 30,222,500 M
K IR+ (FaaA) 18,133,500 H
S U8 LR -
B AL 5 £
ﬁ{; - H
i H: SFOSFETAHA28H BHILBZF FREETHRAT 3 EHNEEER
T = & = £ 7k-30 =1
T =<3 £ FETKEEL I —HEBEMEZHERET
i T & AT FHEM ==y N A
A £ % (H k)
No.
o A F K 4 %,1@‘%2@ fis =
AALLEE 10024844 255 M
1 ®W7os7IS>=o4 17,450,000 LR 10%IcHS T SREMR
Lt-228T%4L L1, 19,195,000
2 W=KaLHLAT R 17 600,000
3 N 18, 000, 000
4 RSB AR IR 19, 800, 000
vk

bk




